m Add/Sub Decimals Assignment (Honors)

Name Period
Add.

1. 16.75 + 14.349 2. 18.741 + 14.113
Subtract.

3. 18.908 — 14.76 " 4. 10.8 — 8.752

5. It costs $5.52 to park in parking lot A and $3.75 to park in parking lot B. How much more
does it cost to park in parking lot A?

Evaluate the expression.
6. 17.816 — 8.623 — 5.94 7. 6.58 + 7.64 —10.006

8. Write two decimals that have a sum of 16.825.

9. Write two decimals that have a difference of 16.825.

10. The perimeter of a triangle is 47.678 centimeters. Two of the sides have lengths of 15.463
centimeters and 11.34 centimeters. What is the length of the other side?
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